Neptun kéd

A5XP7N
ZQDRYO
S5MYS7
GSASGF
KS4ASF
TTHAGL
WYRLWQ
Y20U8)
PMKFJX
PA759B
BCP8L6
R834W3
GWBYN6
14CQAN
KY7PYX
P110H8
L5PINO
J79U4M
JWIAHI
OKSV7L
V5RP6N
140ST6
DTRINU
BIV4UO
EEZ9IG
BUV5R1
IP55ZS
KT059Z
YX78US
SRF9CJ
TEOBES
GPBOFU
XVMJ2T
ZEFSPM
IFQG14
M3LWOO0
YDOVHO
A1QSY9
RIDH1J
G13ACV
JLBL7K
VOT2A8
BMCKH4
IGA2LO
BPITGS
XJ4QLK
CR4H3Z
LGISM
M9SCVN
W9UC5M
N5T5VJ
VD1JC6
QGOBDK
YMCVEX
G7FAHT

ZH1 PZH1_1

0,5+5=5,5/1
nem irt
0,5+6=6,5/1
9+5=14/3
5,5+6=11,5/2
6+3=9/1
nemirt
nem irt 7,5/1
1,5+1=2,5/1 9,5/1
7+6,5=13,5/2,5
7+13=20/5
0+0=0/1
5,5+1=6,5/1
5,5+1=6,5/1
8,5+3=11,5/2
6+10=16/3
nemirt
9+12=21/5
8+10,5=18,5/4
9+4,5=13,5/2,5
3,5+6,5=10/1
4,5+5,5=10/1
nem irt 9/1
1,5+4,5=6/1
2+4,5=6,5/1
9+12=21/5
4,5+0=4,5/1
9+12,5=21,5/5
nem irt 5,5/1
2+8,5=10,5/2
0+0=0/1
8+8=16/3
2+0=2/1
3,5+3=6,5/1 7,5/1
5+4,5=9,5/1
9+6=15/3
nem irt 6/1
9+11,5=20,5/5
4+8=12/2
7+11=18/4
8+3=11/2
7+9=16/3
6,5+4=10,5/2
9+11=20/5
7+3,5=10,5/2
5+7=12/2
8,5+7,5=16/3
9+11=20/5
7+11=18/4
2+6=8/1
8+4=12/2
3+6,5=9,5/1
9+2=11/2
9+12=21/5
9+11=20/5

13,5/2,5

ZH2

nemirt
24
25
25
24
24
22
21
24
22
25
24
25
25
25
25
nemirt
25
25
24
25
24
25
25
24
25
nemirt
25
24
25
25
25
nemirt
25
25
25
24
25
24
25
25
25
nemirt
25
25
25
25
25
21
nem irt
25
24
25
25
25

PZH2

Féléves eredmény

Pétlas
PGtlas
38/2
53/4
47/3
42/2
PGtlas
36/2
43/3
49/3
65/5
51/4
38/2
38/2
48/3
57/4
Pétlas
67/5
62/5
51/4
45/3
44/3
43/3
37/2
37/2
67/5
Pétlas
68/5
35/2
46/3
25/1
57/4
Pétlas
40/2
44/3
55/4
36/2
66/5
48/3
61/5
47/3
57/4
Pétlas
65/5
46/3
49/3
57/4
65/5
57/4
PGtlas
49/3
43/3
47/3
67/5
65/5

60 - 69
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43 -50:

35-42:
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